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The 200-turn primary coil of a transformer
is connected to a 120-volt line. How many
turns must the secondary coil of the

trani=? “have if it is to provide 240 volts?
[Assume 100% efficiency.]

A

B )
C 1,200
D) 24408

e Which device is used in the ignition system
of a car to induce a time-varying potential
difference from the car’s battery?

What happens to the frequency and the
speed of an electromagnetic wave as it
passes from air into glass?
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waves that are produced by oscillating
tuning forks similar?

A Both have the same frequency ( (( \\\
as their respective sources.

B Both require a matter medium
for propagation.

C Both are longitudinal waves.

D Both are transverse waves.

traveling in a vacuum?

A speed
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An eldctrogiagnetic wave tigveling *hrough
avacuum has a wavelength of 1.5 x 107
meter. What is the period of this
electromagnetic wave?

A 50x1010s
B 15x10's
C 45x%x107s
D 20x10°s
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waves that are produced by oscillating
tuning forks similar?

A Both have the same frequency ( (( \\\
as their respective sources.

B Both require a matter medium
for propagation.

C Both are longitudinal waves.
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An eldctrogiagnetic wave tigveling *hrough
avacuum has a wavelength of 1.5 x 107
meter. What is the period of this
electromagnetic wave?
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